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This Question paper consists of two parts : Part — A contains 40 questions on Research
Methodology and Part — B contains 40 questions on subject concerned.

Each question carries one mark and there is no Negative marking.

Answers are to be marked on the OMR Answer Sheet following the instructions provided thereon.
Please handover the OMR Answer Sheet at the end of the examination to the Invigilator. You
may take the Question Paper after the examinations is over.

PART —A

What is the purpose of research?

A) Truth B) Certificate C) Satisfaction D) Service

. In Descriptive Research, the researcher has control to --- the state of a sitnation

A) Analyse B) Report C) Change D) Nomne of the above

. In quantitative research, one can express the phenomenon in ---

A) Analysis B) Pictures C) Quantity D) Nomenclature

. Empirical research relies on ---

A) Experience B) Observation C) Both a&b D) Practicals

. Fundamental research is primarily concerned with ---

A) Qualitative phenomenon
B) Formulation of a theory
C) Rejecting existing theories

D) Experience and observation

- Analysis of historical documents, records, reviewing theories belong to?
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A) Field research B) Literary research C) Laboratory research D) Historical research

Primary research data can be obtained from ---

A) Books, Documents B) Theses, Dissertations C) Manuscripts D) all of the above

Hypothesis should be capable of being ---

A) Rejected B) Disapproved C) Accepted D) Tested

How many types of Hypotheseg are there?

A) Five B) Four C) Three D) Two

‘A systematized effort of gain for new knowledge’ — is the definition of ?

A) Self introspection B) Research C) Yoga D) Publication

Research Techniques and Research Methods are --- used.

A) Individually B) Collectively C) Prominently D) Interchangeably

Which of the following is not part of the Research Process?

A) Formulation of the Research Problem
B) Formulation of Hypothesis
C) Data Collection

D) Publishing findings in periodicals

Eliminate the wrong pair of research expression

A) Descriptive vs Analytical
B) Fundamental vs Applied
C) Conceptual vs Qualitative

D) Conceptual vs Empirical
Conceptual Research do not comprise one of the following

2.
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A) Fundamental B) Basic C) Pure D) Action

15, --- is a scientific way to answering questions and testing hypothesis

A) Thesis B) Article C) Book D) Research

16. Deductive Reasoning means -

A) Macro to Micro B) Effect to Cause C) Whole to Parts D) All of the above

17. How many types of Inductive Reasoning is considered?

A) Two B) Three C) Four D) Five

18. Major premise and minor premise are part of?
A) Logical syllogism B) Logical fallacy ~ C) Major project D) Perception

19. Logical deduction takes its journey from theory to observation: whereas logical induction

takes its journey from --- to theory

A) Hypothesis B) Example C) Numbers D) Observation
20. Descriptive research is also known as ---
A) Statistical Research B) Standard Research C) Correlational D) Explanatory

21. Qualitative and Quantitative methods can be ---

A) Combined B) Can not be combined C) Can not say D) Irrelevant

22, Numerical data is generally used in?

A) Fundamental
B) Quantitative
C) Qualitative

D) Longitudinal Research
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23. Discourse Analysis is used to describe the following communication
A) Verbal B) Non-verbal C) Written D) All of the above
24. Experimental Research is used in ---

A) Cause-Effect relationship
B) Effect-Cause relationship
C) Correlational relationship

D) Historical relationship
o Case study method is an in-depth study of?
A) Statistical survey

B) Psychological survey

C) Empirical study

D) Exploratory study
26. The ‘Hour glass model’ is used to describe ---
A) Case study B) Time calculation C) Scientific study D) Research
2 ‘Chi-square Test’ is used to compare?
A) Variable B) Variance C) Valiance D) Formula
28. “All progress is born of inguiry. Doubt is often better than overconfidence, for it

leads to inquiry, and inquiry leads to invention” - who said this?

A) Karl Popper B) Karl Pearson C) Niels Bohr D) Hudson Maxim

28. Data collection method consists of -—

A) Observation

B) Personal & Telephone interviews



C) Questionnaires & Schedules

D) All of the above
30. “Research is much concerned with proper fact finding, analysis and evaluation” - Do

you agree with this statement?

A) Yes B) No C) Cannot Say D) Irrelevant

31. During which period Indological Studies started?

A) 16" Century B) 17" Century C) 18" Century D) 19" Century
32. In connection with the Tantrayukti method, identify the correct combination from the
following

A) Vagbhata, Sushruta, Caraka, Abhinavagupta
B) Sushruta, Vagbhata, Patanjali, Gautama
C) Bhartrhari, Jaimini, Kapila, Badarayana

D) Caraka, Sushruta, Vagbhata, Kautilya

33. ‘Anugama’ is a research technique used by?
A) Alankarikas B) Vaiyakaranas C) Mimamsakas D) Naiyayikas
34, TR YT I AT BT TET & |

PTCTSTIIERITITT 31 8qRGHT |1 Who said this verse?

A) Jagannatha B) Dandi C) Kuntaka D) Mammata

35. TS f9de a9 FpRmest: |

fhGT STerrgeIq FITEIEaTT |1 Who said this verse?

A) Appayya Dikshita B) Anandavardhana C) Ruyyaka D) Bhartrhari

36. RATIU GrRaHTUS: He: T:?
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INSRIRE B) =rgel: C) 4= D) ¥8:
37. Yukti as a pramana was accepted by?

A) Logicians B) Grammarians C) Yougikas D) Ayurvedins
38, In the application of panca-avayava-vakya, the following method is seen ---

A) Induction B) deduction C) both A&B D) none of these
39. Siddhanta in Nyaya Darshana has been said to be?

A) Two types B) Three types C) Four types D) Five types
40, How many sangatis are enumerated in Nyaya system of philosophy?

A) Three B) Four C) Five D) Six



PART-B

41, 'Hrgear o9, fgear w9’ 3y qred ey Sufie: SEOLE

A) gusefive:  B) Augaaiee: C) SRNEuRSe:

42, A HGFITRIE ToNT SAeiuM?

A) sFEar B) frafasar C) vagfiar
43, FAGAT T A1 2
A) fegrer: Gewe: B) sam-aifyafifraiam C) ardor:

44, SigrT SrfegaresT - wafy

A) THTH B) WA C) o,
45, QRIS W70 - e feperet |
A) ¥ B) TRa: C) AT B
46. foreeT T 31 T8 s -
A) WiftEsees B) WOREERSE  C) THamEReRaT

47, o gt SigaTeoe I v ?

P-4

D) eER:



48. Seaef™ geTereTea arsel: ?
A) BUTTGTH, B) warel: C) 3T
49. PR Pl P ?
A) HETTEer: B) AT C) HRpRaI &

50. o g ereewy el ?

A) S B) e C) wxurefier:

51, 'SEAINEE ~ I AT ?

A) IR B) TrTL C) Treea
52, TETHIIALON TR Tiiar -

A) A5 B) Hrfgwreyor C) BrIuHIe
53, I esra g JIeRTSE] B17

A) 8% B) 9¢ C) 2y
54. IRV 3Ry TR SR HSIR ~

A) SR B) Afetpren: C) oy

55. ffererdaffer Sioeava: qra=e: ?

A) ESyTE: B) #RiGRUME:  C) THRIIyHE:

T

D) SEr=:

D) gafter:



56. eIV UGS JeaHod |

57, TR FAARUTRR: : 7

A) 9 B) ¢4 C) oo

58, TS HITC: HETHHgRNdaT fh B Fifdd wafe
A) FHTE B) 3@  C) IHN

59 “TIH 378 AMH?
A) ST B) gl  C) Rgwret

60, TEar: B g nfig:?

A) StE B)@m@fs  C) Tregarsy
61. 1: ' ST TATTAR o 0 o7 e

A) 9 B, C) &

62. WSD &%y @rsef:?

A) Wrong Sense Detector
B) Word Sense Disambiguation
C) Wrong Sense Disposer

D) Word Sense Detector

Pt
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63. PV is an example of?
A) Regular Expression
B) Context Free Rule
C) Context Sensitive Rule

D) None of the Above

64. TGO Q& Zheom farsiefy erera -

A) gfvms, fafe:, fFam:, siidee:, gsi, sfderR:

=

B) veaerR:, fafe:, fam:, gfvwmn, Her, sffdar:

C) smeer:, fafer:, gRemT, Frm:, w0, afder:

D) aRersy, fafg:, ammm:, sifoeen:, ameem, am:

65. it RrRTERINey &dl?
A) peciep: B) #¥c: C) gms: D) T
66, Which of the following is NOT related to Machine Translation?

A) Transfer approach

B) Interlingua approach

C) Direct approach

Lo



D) Indirect approach

67, TS AT RTISTRIT: Sl p:?

A) TSTER: B) SEr:

68. U 3icT U -

i N . §

69. HIGEIELH 5@ HiIfder?

A) fafaem B) ffiem

70. Bid defdgraz: fagm?

A) 37st B) ger

72. T GIARY: B wafgaa?

73. ITABTTEN &B: g=ep: oRfRa:?

74, HTARTEI - SIS FEAGGTT?

C) =rjaf:

C) Tgfdem

C) tepreer

C) A

T~

D) A

D) ysfderfafaey

D) M9



A) S B) ORI C) HATETRETC

75. SRR Rifevfl $Ry e wafae

76. ERICATS: 3 He I Siifa: -

A) TeSIfAAT B) ¥RICAT C) rierf=ET
7. T e e aref:?

A) e B) tgreffqma: C)ATaIBH
78. Which of the following is not a WordNet relation?

(A) Homonymy
(B) Hyponymy
(C) Hypernymy

(D) Synonymy

79. ST TG DT YATUET: - T I P T

A) =R B) 491y C)dg

80. ToeTy et ggTa FTRIT F71: 374 ey paver:?

P17

D) &egTe FeEy

D) AT

D) ImmdTy

D) Hgda

LA e N Y

A) JECRUIHIUY, B) SAMEMRAGHST,  C) WARIGRUMY D) dRNHEg
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